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SA ZHOBAE

Hu: SAS MM Y BT (SEHSRL/SY - 5E)

chelr g (M) BHEXR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ay (Ae) BEX 105,540 69,000 36,540
= 6,831
= 98,709
ded AIAES M2 N A2 At 9,000 9,000 0
= 1,350
[Ea 7,650
201 Zet=3h] 9,000 9,000 0
=S 1,350
s 7,650
01 AtR2tc|Hl 9,000 9,000 0
oxga AAE 82 A
3,000 *3,000H 9,000
< 1,350
s 7,650
S WA SE EiHH| XI& A 36,540 15,000 21,540
= 5,481
Ea 31,089
307 gl2to| & 36,540 15,000 21,540
=S 5,481
s 31,059
02 QB HANEER 36,540 15,000 21,540
OJTA TR0l [HE S4HHH XI& AME
3,654,000 * 1004 2~ 36,540
< 5,481
= 31,059
Aotele st SHEiHl XIS 60,000 45,000 15,000
307 elztol & 60,000 45,000 15,000
02 2B YAIHE A 60,000 45,000 15,000
OAE0teY s=bt= =il XIS
2,000,000 *60IH 2= *50f% 60,000
SX0pIE 243 (=sgldril/sY - sE) 862,000 705,000 157,000
s+=¢ 0piE 243 X 862,000 705,000 157,000
e gdat 862,000 705,000 157,000
201 er23 | 15,000 15,000 0
03 ALY 15,000 15,000 0
ORSYM SN2 & 2HK ZFHHAL
5,000,000& *12] 5,000
Os==S43 S80I atite &AL
10,000,000 x12] 10,000
301 2eEN= 14,000 16,000 A2,000
09 2ABI=HNHI 10,000 10,000 0
OiHHEHR =& Qeix=F |
1,000,000& 102 10,000
11 #AIMHIXIE S 4,000 6,000 /2,000
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SA BHOHBHE D
A SX0PIEY BASH(SHHYLA/SY - 5E)
&l =4t OHIE 2438 NI (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Os+S02 BiSHE 78 JaX At
4,000,000& *12] 4,000
307 gl2to| & 833,000 674,000 159,000
02 2B YA AR A 833,000 674,000 159,000
OsdtE 2 ME XA
3,750, 0002 *1607H 2 +50% 300,000
O4+& @8 ZITH MM
20,000,000 *6IH 2= +50% 60,000
OB+BHOIZ HF4 LA
15,000,000& * 13l 15,000
OXICIHHAIN AF=ZE|AN
5,000,000 «6 &I 30,000
ORI SR X
600, 0002 *125CH +32% 24,000
OFNE Sth2 T XA
808,000, 000& *50% 404,000
YA ZHI(ZHOAE ) (O1EHIIE) 88,087 103,723 15,636
el 2| 42,735 57,831 15,096
el 24| 42,735 57,831 A15,096
101 @124H| 42,735 57,831 15,096
01 &= 42,736 57,831 15,096
OZMOBE D AR 28+ 42,735
—2ey 42,735
6= 12,3213 %4 +30A1 2t 1200 2 17,743
= 11, 1302« 12 +30AI 2H+ 1200 2 4,007
= 9,992 x4 *30AI 2t 1290 2 14,389
= 9, 1602 x2& +30AI 2t 1200 & 6,5%
Jl=23H 45,352 45,892 2540
Jl=2ZuI(ZMOBAIED) 16,744 16,324 420
201 er=2 3| 15,424 16,424
01 AtR2t2lHl 15,424 16,424
OZNOHHE N g2 2SS 7L
10,0003 242 1270 2 +80% 2,304
OZHOHAHE Y 2= X SAHEX +
& 25,0002 x25E +0. 6% A+ 1201 2 +80% 3,600
OZHOBEn Zely EUFY(E)
250, 0003 *4LH+52]+80% 4,000
OZHMOAER T2y EW(EH)
300, 000 *3CH*52] *80% 3,600
OZMOHE D AHRIID| =2l S HIbIS
200,000 1270 2 «80% 1,920
202 04l 1,320 900 420
01 =LHAHI 1,320 900 420
OdE AHIHIEZ |H =& 04|
20,0003 x22H+3 1,320
JlE2ZH(XNE3HEE) 8,787 8,787 0
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SA: ZHOBE 2
= °”§S%%HI(%HIDP%I%‘EP)(JIE}/JIEP)

el =]
S A - BRI - HRA - BES of e A
201 er23 | 3,072 3,072
01 At2teltl 3,072 3,072
OXNAZHE 2xa Szl
8,000 x5 +60 *80% 1,920
OXNSHBNE RF ARES 78
20,0003 x6 2 * 1270 2 +80% 1,182
202 044l 5,715 5,715
01 =LHO LI 5,715 5,715
OXNSZNE dRF8 2 £F0iH]
20,0001 +52 92+ 127H 24 30% 3,240
ONAZHE 2oz 2ol SX0IY
110,000 x5 & *3& x52| *30% 2,475
Jl=2ZHI(0BIEEE) 6,876 6.876
201 fet=3| 2,304 2,304
01 At 22|l 2,304 2,304
OmNEE g8 Sl
8,000 x4 +60& *80% 1,536
OIS 2%R ASEE 2
20,0002 4 = 1200 2 +80% 768
202 04dl 4,572 4,572
01 =LHOHI 4,572 4,572
ODHHEE g4 2L SZ0i|
20,0002 x4+ 1201 2 «30% 2,592
OiHEE g2=d 22 £2&0i|
110,000 x4 & x32 x52] x30% 1,980
J1=2Z81(0ICINE) 5,29 5,202
201 er23| 1,182 1,152
01 At2teltl 1,152 1,152
ODILINE ge=d Sl
8, 00021 %224 X602 +B0% 768
OUILIog AREX ARBE 7
20,0003 x2Z 1270 2 +80% 384
202 04| 4,140 4,140
01 2LHoIH 4,140 4,140
OUItIoE ge=d 2 228 0l
20,0003 #2152 1201 2 +30% 2,160
ODILINE gf=d 22| 28 0|
110,000 2 x2EH +32 102 *30% 1,980
l2dbl(a2gdsgs) 7,173 7,173
201 et 3| 3,744 3,744
01 At 2elt] 3,744 3,744
O=2== &H 22 =2t
8,000 x3& 1052 «80% 2,016
O4HE e g Sl
8,000 *3Z+60 *80% 1,152
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SA BH0HBHE D
. A2 Z3HI(FNOBIE ) (O1EHIIE
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONPEHSE 25 AIPEE 2
20,0002 *3EH = 1201 2 +80% 576
202 04dl 3,429 3,429
01 2L AL 3,429 3,429
OdHE e gFF 2L EZ0H|
20,0002 *3E+9 1201 2 x30% 1,944
O LY g4 29 £d0i|
110,000 x3& +3& x52| x30% 1,485
J=2ZH(SRAZ2) 480 1,440 2960
202 04l 480 1,440 A960
01 =LHA LI 480 1,440 2960
OS2& 22X 2U £E0dl
20,0003 =2 *4 & 64 2 x50k 480
S+SAS ZUH Ao (A - SAINLLUUR /&Y - S 320,000 621,000 301,000
aJ|gagt)
OICIOf DHMIE 288 dH 82 320,000 621,000 /301,000
OICIol 2= 88 =8 320,000 621,000 /301,000
201 Zet=3h] 320,000 621,000 /301,000
01 AtR2te|HI 320,000 621,000 A301,000
OZlzotelgd= NS 29
50,000,000& *12]* 1= 50,000
Os402 BEE 98 22 Y DU S
oIciol &4 50,000,000 *43] 200,000
OSNS 22 OIHE =&
20,0002 x1002 %102 20,000
OLIZRAA &8 0IUN 82
5,000,000& 102! 50,000
s+S42 0I0N S2(4HY - SAIILLNEX /MY - = 163,000 6,160 156,840
Enpje eyl
ol 82 =& 163,000 6,160 156,840
OIti 82 & 163,000 6,160 156,840
101 e124d| 3,000 0 3,000
M ORNZZ2NSE S 3,000 0 3,000
OEEZE 1828
300,000 x1H*102] 3,000
201 er23| 160,000 160,000
01 At2teltl 160,000 160,000
O8ERE 28 Mk s+Su3 &1 298 160,000
—2gs= 110,000,000 1 *1H 110,000
—2d g 20,000,000& *13] 20,000
—&d HIE 30,000,000& *13] 30,000
iﬁég%)mﬂ% EL (MY - SAIILL0UR /&Y - 5 323,480 998,950 A\675,470
Z20HE o128t 28 323,480 998,950 A\675,470
dcoteled s+=SuE 82 323,480 998,950 A\675,470
201 er23| 323,480 748,950 A425,470
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¢ ZHOBHE

D sFSA4E 0PI 24 - SAIILLUUX/AY - SAIY
L BIONE olgs 28
S A - BRI - HRA - BES e
01 At2t2ltl 323,480 748,950
Ous+H 28 21 2 M 263,480
—A2IHA 880,000 *25CH*30H & 66,000
—2ZHA 100,000 *26CH* 100 26,000
— 2L A 103,000 *16CH* 100 2 16,480
—ZHLHEIA] 100,000 *75CH* 100 2 75,000
—AEE 2 100,000 *50CH*10JH 2 50,000
— NI &H| 30,000,000& *12] 30,000
Oz 28t 28 210 % A 60,000
—0EHA 30,000,000 =2CH*1L 60,000
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